eraﬁrﬁcqmﬁngt secion in the spaces provided,

i " ;
A pracess that oeenrs m ;Qt':nh. s represenied by s cquniion below,

{{:G]HD-'v—rZC,H,OH+ 2C0, ¥

{Ethanol) (Ca:bun dioxide)
{ir) .H{E}%!t procoss,

g\..& ....... P TR
2@4@‘»9&: the ceonmmic importance of the e ess tmed in o) above, {1 mark)
N R e e

;Q, N e s RS A BT SR

QL‘ (qwme the phvium whose members possess notochord.

{1 mark)

Fdddasasirawnadnsmmynesrars

{1 imark)

A wt sy seklen ge I S T T H 2 ¥, 1 <
How do the male gameie nucled reach tie ovuie after polien grains bind o the stigm?
* L3 3

\
"\ EF vk}

ﬁ ks Feymhncy o Iy i pardey $asn H i i
{ap  Name the bacteria found i ol nodutes of legunsinous nlonts {1 k)
¥ iy Ll i _?

e L L T L e

{1 mark)

A bone obwined from a manumal jx represented by the diceram below,
fa).  Name the bone, {1 kl'n
mar
o+

(b} Which bones articoliic with the hone shown 3 i
cusiie wiliz the hone shown ip the diagram at the noteh? (2 marks)

Petwsracarennm
BT R AR R -
......... R T
L T e
L NSRRI
LR Ty
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16

1

A‘\

Diistinguish between analogous and homologous sjruciures,

T T T T I T R T T R S R T

S
The disgram beiow rcpres@\regions of a rool iip.
QP |

Q
.0
RN
Qﬁ\ © %
QT\@ N
@ X b 4
‘L‘ \}'b' s X
o O‘;Q

fay Namg the two regions above X in ascending order.

(b}  State the function of the pari Iabelled X,
State a function of the large intesting in hwmans,

Mame the:

{8)  material that slrengthens xylem tissue.

EpmroRTEE s R EE GG R BA R B

(o)  tissue that is removed when the bark of a dicotyledonous plant is ringed.

T R L L L L R R R T R T

How are leaves of submerged plants adapted for photosynthesis?

Name the causative agent of typhoid,

27
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o
A\

S
EE{."[‘!;QN B (40 marks)
6 [ . -
Answer all the questions i1 :ﬁisv&iian in the spaces provided.

12 ()  What is meant iqy aﬁ term sex-linkage? {2 marks}

Z ranwa - IR R N
YTy AL R rme bue pdeEBEREE

(b) N@QS&M sex-linked traits in humans. : {2 marks}
20 S

\ - I3
\L-C? ‘be? In Drosophile melunogaster, the inheritance of eye colour is sex-linked. The gene

< ‘(\Q for red eye is dominant. A cross wag made between a homozygous rcdwym::
&Q’ 0(9 female and & white-eved male. Work eut the plienetypic ratio of Ty geneation.
KON (Use R to represent the gene {or red eyes). {5 marks)

28
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: R\
13 The dipgram below shows gaseous exchange in tigsues.
' : N

Body cells
Direction of flow
of bicod
Capiliesry wall
@Q, O to the body ceils {1 mack}
\\ .. O
0SS B SR G A S S RS S
(@\? (i) from the body celis. {1 mark)
A\
QO\ \Qo L) L] I L] L] ) . . - 1 .' H .|-r---
\(‘\& (8}  Which compound dissociates to release the gas named in (a}{i} above? {1 mark)
(¢ ()  What is tissue floid? 2 marks)
(i}  Whai is the importance of tissue fluid? : . {1 mark}
(@)  Name the bicod vessel with the highes! concentration of:
{i) glucose Y €3 mark)

(iij carbon dioxide. {1 mark)

...............................................................................................................
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14 jal Fxphain how mariae Hsh regelate @eir osmotic pressure, (3 marks)

..................... FErr it bdiraaE Rl A eI -s‘n-|-|-+-.--|-|-.r-|-r-d---|-|---|l||lI-iI-I-ilil|l"l'll"ll-ill:ill“‘i"IJ'IiiiH
o P SO LAyt B - S TSR T T L L s T T e R S Y ]

,.,.;........,.,.....,.,.1.......-.1-.Q’.....-..-......-.-..1+|1n1r1--1--raa-arv-a-1----1-1-:-!-!-1-11-\---||--||-----|--|----a----
e ..........,....,,,,,,..,_@.........,....,...,....,.,,.._..,...,....1,..._-”..,...-.1,...-....--..-..--.-nr.:--u--n--r-u-r-:-n
,._,.,,1,..............;..",.....+........“.....1.............1....-.-.“-1-.--+u.1|-.-.-.--r----u--------i-I-i-!-rlrl'--rlir-nl-iﬂn

.
.,..,,,1,..,,,..,.\., et N s naparasta s adF Bdea bbb s bal e B bEaR LB BRI RRr T raiFdEa bR Badpd AP FR e mindardnnbFdRdidrE i

ih) \l&mmﬁ the vole of mmitidiuretic hormong when there is excess waier in the human

Q@k&@-_ _ (3 marks)
|®$-\....1.1;....,.-...,-.-.,...,..-:|..|a||--aa|-a|p-|14-p|--r<r--J-r.-r-|I‘I}.'1l-I-!l-l'!ll""-llﬂlil'lf|1|'||'Fl*lﬂ"t"fll-"'i

QO\ \Q ’ : i

Mﬁ? ’
Al

i ,__*Mi’g
&{f

—

=

--—-un~||\

¥ A
L 1.4
2

(2t} Nameibe type of responise, {1 mark;}

T T R R L L R e e e R R b e

{ii} Explain how the response nained i (a)(1} above occurs, © (3 marks)

T T O T e e e e e N R R R R R R R LR LR At i

................................................. :..1.-.“:-:-.--1------“-----n-n-:-..--HH----~----a---1l+-<!+¢+l

PO ......_.....,.......-.........,....:....-...-1..-a.-h.-|.-unu-an----n-1-nri-n-l-h-n--v---------i“--ll-"

A T I T e R e L AL FNETRPAR R Ay
v . FevastErssrATEn =
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$ o
o' Q
Q®\

\
S

.\\,
L9
Q\
{2} What is the imponunce of e FESPOIS (O mucroscopic plinis? {1 mark)
X

B T T 5&.,,...,.._..”“.“. A

(e} Suue four applications of pland lk&wﬁca in ugrivuliuge, {4 miarks)

S

-Hrvll-1-'l!liH:llHi'--r---n.n|-u+“.r.-@ﬁ..“-.-.,........,......,......,,... =¥t

R R I

'-.+......,,......u.....,..ﬁ.....neﬁ

1-llll-l:1r:'rl-r---a--n-zqw-r--r.ru ....... NrEET Rk D R T T S o R

+1--.1r‘“““"“:“é‘.é& ...................... q.f- ..................................................... -u
19 {a) Wim&ﬂjnls:ﬁm by:

&/}Q @wmlugy {1 nusss
O

G

2 (;(\{ii} Synacology? {§ murk)

: O ad Bkl
A\ N
(b}

R T R P e, RO

The rumber and distribution of slomata on hree Jifierent fesves ace shown in the
1able beiow:

MNumnbor of siomais

Upper epidermis

.
[t
b=
b

'l Lower epidermiz
.i e — R—
i
1
1

-

P50

(2 { i3

— ST, [P

204

-

1

e B SRR e

i
!
i
|
i
i 30
i
l
i
1

Suggest the possible habiut of the planis from which the leaves were oblained,
) i3 murks)
faend ; tlaliliut

B |

(<) Staie the modifications found i the stomaw of leaf €, {3 marks)

B R e R L L I T T T

A AP R AR BRI E N R A DR BRI A R R R P AWM E R R R AN EE AN FAE ST AR A B AR R e b 8 e AR YR sk e B e

N
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o
Q\
SECTION {.‘b{dﬂ marks)

Answer quesiion 17 (compulsory) iydie spaces provided and either question 18 or 19 in
the spaces provided affer guesii .

17 Some students used a modebfo demonstrate the effect of sweating on human body
temperature. Two boiling tubes A and B were fiiled with hot water.
The temperature of wgfer in the tubes was taken at the start of the experiment and then
at § minutes integygiS The surface of tube A wes continuously wiped with a piece of
cotton wool s éﬂ in methylated spirit. The results obtained ars shown in the table

below: Q) _
23 0(\\ Temperature” C in tubes
N\ 2 . -
ol Clime (minutes) A B
(OQT S 0 80 0
& \\! 5 54 &7
+ \)@’0 E 10 | 40 55
(7 (;(\ | i3 | 29 52
\&\o 1 20 21 | 43 |
. | 25 18 46 ;
o - H
\N
(@ \ (s}  On the same axes, ploi graphs of tempereiure of water in the fubes against time.
< Q\ {7 marks)
X ~
N
QO
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| TR
ESRERanaR AR
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L AR
! r : il ! _ +HH _ i
. . I | 0 i t _ _ - :
: 2 P HEEREE NER | .
e L CLEE BE: SN AT |
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o
Q\
(2
(b} At what rate was the waier cc«a@ in tube A? (2 marks)

{d) Am:oeﬁr for the rate of cooling in tube A, ' (3 marks)
& N
ﬁ Qgrl-l'|l|---rr|l--||"\-ldl'|llr--'.I-|I‘Jlll-lrrl--||.-|.r-.lrdl11p-||.--I‘I‘I‘l|‘1|p|'|--aI--I-i-..11I-qlpd-lI-ll-bllllllll|I|1rlJ|||
®§ ...,-_-..-..--.....,h.“a“-...-.+..,H.--......o.-......q..I“,--......,.u-..-a---u.". r ? :
§\ \ {e) Siate two processes of heat loss in tube B. (2 marks}
\ :

..............................................................

() Whai would be the expected resuits if tube A was insulated? {1 mark)

TERETTREY ]

(gj  What would the insulation be comparable to in:

¢y birds (1 mark]
{ii)  mammals? (1 mark)

(hj  Name the structures in the humas body that detect:

(i) exiernal temperature changes {1 mark)
(i1} internal iemperature changes. {1 mark)
I8 Describe the functions of the various parts of the human eye. {20 marks)
iy Describe how fruits and seeds are suited to their modes of dispersal. {20 marks)
34
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